IRZIEL I T PRI AR PR 7]
FEnAS N EBOR R (ELERM 2022 il A 30
RER

— FEAETEA AR AR AELR B

(—)

(=)

FEUETEAT bt

FEUEFERA: 90 K

SEFEHELR
(AR T 1000 Jo ORI &80 TF B 547D

ER (A 5 7
0-4 0. 66 0. 42

5-10 0.39 0. 30
11-15 0. 40 0. 39
16-17 0.50 0.51
18-20 0. 65 0. 85
21-25 1.29 1.90
26-30 2.18 3.43
31-35 3.75 5.28
36-40 5.98 7.61
41-45 8.13 9.15
46-50 10. 06 11. 42
51-55 15. 30 13.11
56-60 17.70 13. 47
61-65 17.91 14. 37
66-70 18. 61 15. 00
71-75 26. 25 22.58
76-80 27.98 24. 51
81-85 28. 33 25. 82
86-90 30. 41 26. 91
91-95 32. 50 28. 03
96-100 39. 14 34. 70
101-105 52. 33 41.24

T BROALZIESN, 0 SR AR 30 R HARREHBE
BrAALESN, 61-105 Ji % B A0E M T2:AR;
BRAAELES, ERR ARSI HESE AT 90 K, BERTCEARFIY

Bfr: Jo



—_—

[l

SHHBRL

SRS
S5 CHD EX
0 1.75
30 1.20
60 1.10
90 1.00
VE: S RBUUE T R AR AR
R RE
TR 1
W R EX
W 2K T4 F 10 4F L 00
R H R R F45F 10 32 '
W 5B /8T 10 4 0.95
HAEH AN T 10 32 '
PR AL 5y 1.00
R RE 2
B PRAMARE R S EX
Rt 0.95
ARt 1.00
PR AN 2 1.00
TR RE3
J7 50 1S HE EX
il 0.95
P 1.00
7= i AMELX 1.00
R RE 4
PRI BMT A
AT 19 BUKT 24 1. 00
KFET 19 HADTETF 24 0.95
e S 1.00
TEERE S
AUy EX 0
KT 42 [ 0. 90
KFET 30 H H/INTET 42 [ 0.90 (&%) -0.95 (&)




KTET 20 HHAT%T 29 4

0.95 (AE) -1.00 CRED

/NF 20 JH 1. 00
e 1.00
W RH6
S 5N, @ F = 25
e S S R E T B 8
Zhn 0.98
AN 1.00
PR AN 1.00
R RE T
BRNEL R
PN 1.00
FREFAR (2 ) 0.95
KIEBAR (3N 0.90
KIEBAR (4 D 0.85
KRR (5 AL D 0. 80
P2 B ANIX 5y 1.00
EERH8
I A EX
T ERA CEM. APP £ EHEH) 0.70
I A B AR UK 0.85
IEIE R B AR A 1.00
T A AN 1.15
FEE AN X 2 1.00

T SRIE B A AR A R SR A B A 51 B8 B AR L

R

BU/ 3 S 1

M

ANt 30%

0.40 (&) -0.75 (&)

I 30%, EHANGE 50%

0.75 (AL -0.95 (&)

i 50%, EHANGE 70%

0.95 (AF) -1.50 (%)

it 70%

1.50 (ANED -5.00 (£

T TUY/ D3 S2EAT 3 TR 2 18], SR ARk A B 00/ D S A 5 R 4

MERE10

(EAERs EX 10
e L 1.66
B PR Ip 1.66




IR i 503 1. 42
FLIRE 1. 54
JH5 1. 42
(=SR] 1. 42

T ARHEAT N REON 1.

TR 11
P28 215 451 EX4
7 HA 1.09
AN HA 1. 00

B R HE R =T B0 X R B2 XA HE R 03 X R 504 X OB R 805 X 3
FH6 X R BT X OB R B8 X A R A9 X A R0 X AFE R 11

M. fREFIHE
(=) KM ORE 9 -
Lo EORE B O AR REAR SR = (RIS G4/ 1000) X 4RI HELR 2 X 55
FHI AR B B R IR B R AL
2. AFREGE (SR = (TRIGEET/1000) X A FEHECR 2l X 2 A B R 4

() IR ORI 9% -
Lo EORE B O RREAR SR = (TRIG G4/ 1000) X 4RI HELR 2 X 55
R ARBOX PR IRBE R A, HA ORI P = ORI 2 <+ 0 IS A 91
2. FAREGTR (B = (IRIG4EE0/1000) X FEEEAELR 0% X 2R I8 R4,
LA H DR Bl =5 DR I8 9% = 0 IAC A J 50



